EA ﬂa CHROME ENGINE GUARD - Yamaha V-Star 1100 Custom &

Cistorm Accessories Clmc 1999 - 2010
M:&i‘fﬂmm—m" o . '}
Sty

/ BA-7140-00 Page: 1

.. . WARNING:Engine guardsarein no way intended to provide bodily protectiol
ReWS on: 22 = 09/11/2010 for therider and/or passenger. The motorcycle operator assumesall

H . H responsibility for any effect this product may have on motorcycle handling.
I nga“ TI me: 30 M InUteS Engine guardsarefor cosmetic use only.

INCLUDED IN THEKIT:

(1) M10-1.25mm x 60mm Hex Head Bolt (2) 3/8" Flat Washer
(1) M10-1.25mm x 25mm Hex Head Bolt (1) M10 Acorn nut
(2) M10 Flat Washer (1) M 10 Nyloc nut
(1) 3/8-16 x 10" Threaded Rod (1) Engine Guard

INSTRUCTIONS:
NO WARRANTIES OR GUARANTEES REGARDING PERSONAL SAFETY ARE EXPRESSED OR IMPLIED

INSTALL ASFOLLOWS:
e Protect therear portion of thefront fender with atowel or other thick, soft cloth. Remove the OEM engine
guardsif they have been installed on the motorcycle. Your new Barons engine guard will fasten to the frame
at the same pointsasthe OEM guard.

e |f OEM engine guardsare not present, remove the footpeg bracket from left-hand side of the frame. Do not
disconnect the shift linkage or remove the footpeg from its bracket.

e Removethelong 10mm bolt from the engine mount (this bolt passesthrough the engine cases) and discard this
bolt. Remove the forward engine mount bolts on both sides of the upper engine mount.

e Position the engine guard so that the lower brackets point towardstherear of the motorcycle, and dide the
engine guar d into the space between the front wheel and the frame.

e Raisetheguard until the holein the lower mounting brackets aligns with the vacated bolt holes.
e |nsert thelongest 10mm bolt (228mm) and finger tighten. Thread on the nylon locking nut and finger tighten.

e Rotatethe engine guard until the holesin the upper bracketsalign with the upper engine mount bolt holesin
theframe. Insert thelonger of the two remaining 10mm bolts (60mm), along with a washer, into the left-hand
side of the frame.

e |nsert thelast 10mm bolt (25mm) and a washer into theright-hand side. Tighten the upper bolts securely, then
tighten the lower bolt. Reinstall the left-hand side footpeg bracket.

e Removethefender protection and youreready toride.
CAUTION: You must re-tighten all four of the engine guard mounting bolts after 100 miles of riding!

CARE & CLEANING: Engine guardstake thefull brunt of the worst of what the weather in your area hasto
offer, making it critical that proper and complete cleaning take place on a weekly basis, or corrosion will occur
which isnot covered by warranty! Proper cleaning procedurewould beto use a product like Simple Green,
LOC, Salt-Away or similar. Mix a strong batch and apply it liberally with a soft towel or soft nylon brush to
the entire surface of the engine guard. Be sureto get the solution on all sides of the mounting brackets.
Corrosivesare an invisiblekiller of chrome and you need to perform this procedur e often.

Our ingtall guides provide a basic outline on the proper installation of our products. Further tuning and/or
fitment may be required. Barons bears no responsibility on installation costs associated with this product.
© 2025 Barons Custom Accessories

5221 Oceanus Drive * Huntington Beach, CA 92649 < (657)200-3840 - Ph. * (714)901-0520 - Fax * www.baronscustom.com ¢ tech@baronscustom.com



BA-7140-00

z Page: 2
| =1/a\| =Y )JAY// CHROME ENGINE GUARD - Yamaha V-Star 1100 Custom &

Custorm Accessories Classic 1999 - 2010
e WO = Bexy Criviser Porrs" e 4
NN g

Attachmentsto Engine Guard: When attaching items like highway pegsto your engine guard you should be
awar e that clamps can break the chrome surface, and thiswill be an area where corrosion will more easily

occur. Baron recommends placing a layer of electrician or duct tape around the bar prior toinstalling and
tightening highway peg clamps.

Our ingtall guides provide a basic outline on the proper installation of our products. Further tuning and/or
fitment may be required. Barons bears no responsibility on installation costs associated with this product.
© 2025 Barons Custom Accessories

5221 Oceanus Drive * Huntington Beach, CA 92649 < (657)200-3840 - Ph. * (714)901-0520 - Fax * www.baronscustom.com ¢ tech@baronscustom.com



